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One of the most significant commitments
of the Narendra Modi government is to
ensure piped water to every rural
household by 2024. Under the Jal Jeevan
Mission, led by the Department of
Drinking Water and Sanitation, 10.2 crore
rural households, or about 53% of the
eligible population, now have tap water
access. This, the Government claims, is a
37-percentage point rise from 2019 when
the scheme was announced, where its
stated aim is to ensure at least 53 litres per
person per day of potable water to every

rural household - which implies a mere

Question: 1
Which of the following is the
antonym of the word “potable” as

mentioned in the passage ?

1. Pure

2. Fresh

3. Foul

4. Vascular
S. Adequate

Solution : Option 3 Potable(Adj.)
Foul means something very bad or

unpleasant



The Government commissions annual surveys Question : 2
to evaluate the success of the scheme. A recent Which of the following can replace
audit, by a private agency, found that around ¢he word “Liaise” as mentioned in
62% of rural households in India had fully
the passage?
functional tap water connections within their

premises. A report of a Parliamentary

Standing Committee on Water Resources in 1+ Cooperate

March, based on numbers provided by the 2. Corporate

nodal Jal Shakti Ministry, stated that 46% 3. Contemplate

households had such fully functional tap water 4. Coagulate

connections. It is important to note that for the
S. Detach

purposes of the survey, only 3% of rural

households were surveyed by the agency for

the updated numbers and so the margin of Solution : Option 1

error may be substantial and subject to the Liaise means to work closely with a a

way the survey was designed. person



If the numbers are accurate, however, this Question: 3

represents an impressive rise in potable, tap Which of the following

water accessibility and suggests that the mission statements is true according to
is well on its way to meeting its 2024 target. The the passage?

survey, however, revealed wide disparities in

achievement Tamil Nadu, Himachal Pradesh, A.75% of households received
Goa and Puducherry reported more than 80% water just once a week

of households with fully functional connections B. 8% of households received all
while less than half the households in days of the week
Rajasthan, Kerala, Manipur, Tripura, C.Households got water for
Maharashtra, Madhya Pradesh, Mizoram and three hours every day.
Sikkim had such connections. About 75% of 1. Only A 2.0nly B
households received water all days of the week, 3. Only A and B 4. Only C
and only 8% just once a week. On average, 5.Only B and C



Moreover, the report mentions a problem of Question : 4

chlorine contamination. Though 93% of the If the survey’s data are correct,
water samples were reportedly free of Which of the following
bacteriological contamination, most of the conclusions can be drawn?

anganwadi centres and schools had higher than
the permissible range of residual chlorine. The 1. A rise in potable water

COVID-19 pandemic disrupted the progress of 2. Increase in tap water

the scheme but with the economy now close to Accessibility
pre-pandemic levels, it is likely that the 3. Mission is progressing
challenges of labour and material have softened smoothly

somewhat to aid the progress of the scheme. The 4. Only 1 and 2
Centre should liaise better with States thatare 5. All1,2,3
falling behind in targets and ensure that the

infrastructure created as part of the scheme is  Solution : Option 5



Question : 5

Which of the following conclusions can be drawn from the passage’s

information?

1. Rarely does the govt. order yearly surveys
2.  No problem of chlorine contamination was reported

3. The COVID-19 epidemic aided the scheme’s advancement

4. The nodal ministry for the implementation of the scheme is the
Jal Shakti Ministry.

5. None of the above

Solution : Option 4



Directions: In the following questions, a sentence is given with five words marked as (A),
(B), (C), (D) and (E). These words may or may not be placed in their places. Four options

with different arrangements of these words are given. Mark the option with the correct
arrangement as the answer. If no change is required, mark 'No arrangement required’ as

your answer.

A seemingly(A) wonder is that the greater(B) fragile toughest(C) is one of the kingdom(D)

beasts in the animal hummingbird(E).
1. CDEAB
2. BEDAC
3. ACBDE

4. BAECD

5. No rearrangements



FILL IN THE BLANKS

India’s Economic growth has slowed for 5 (A) (that follow one after

another) quarters beginning from late 2015-16 onwards. It could be a serious blow
for a government that had promised to turn around the economy through

(B) (capable of making choices quickly and surely) governance. India’s

GDP growth has gone down from a high of 9.2% in the Third Quarter of the year
2016 to 5.7% in the current 4thquarter of 2017. The economic growth rate is
probably the slowest in the last many years. However, the Indian Economy as per

global standard is not in the (C) (slowdown or a massive contraction) stage.

BLANK A ? BLANK B ?

1.Distinct 2. Respective 3. Disparate 1. Hitched 2. Trifling 3. Flimsy
4. Consecutive 4. NOT

5. NOT 5. Decisive



